Special Algebra By Alok Sir

Type-VI
L |f x* +i4:194, the value of x° +i3 is
X X
(a) 52
(b) 62
(c) 50

(d) 54
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2. 1f m+ 1 =4 then the value of
m —2
(M —2)° +— = _is
(m -2)
(a) -2
(b) 0
(c) 2

(d) 4



3.
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y &N
| f Xxljl =7 then Xx3:1 IS equal to
(a) 343
(b) 433
(c) 432

(d) 322
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4. |f x+1:1, y+1:1 then the value of

y Z

1 1 1

Z+ =+ X +Yy+—+=

X y Z
(a) 1
(b) 3
(c) -1

(d) 0



5.
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| f a + b + . =1 then the value of
l1-a 1-b 1-c
1 1 c .
+ 1 IS
l1-a 1-b 1-c
(a) 1
(b) 2
(c) 3

(d) 4
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| f Xy +yz+zx =0, then
! + 1 + . IS
X°—yz y°®—zXx z°-Xy
(a) 3
(b) 1

(C) X +y +2
(d) O
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. If a+=—=b+==c+=(azb=c) then the
C a

value of abc iIs
(a) £1
(b) 2

(c)O

1
(d) 7
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8. If E+9:2 then the value of a-b is
b a
(a) 2
(b) -1
(c)O

(d) 1



1 .
9. If x+==-2 then the value of xP +x?% is
X

(where Pis aneven number and qis an odd
number):

(a) 2

(b) -2

(c)1

(d) 0
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10. |f a+£:1 then the value of
a

a100 +a99 +a98 _I_a97 +a96 +a95 iS
(a) 0

(b) -2

(c) -1

(d) 6



Special Algebra By Alok Sir

Type-Vlil
11. |f a+§:—1; then the value of a5°+a% iS
equals
(a) 1
(b) O
(c) 2

(d) -1
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12. ¢yt +i1: 1;then the value of x*** + —is
X 4 X
equals
(a) 2
(b) O
(c) 1

(d) -1
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13. 1Y s 1 .
If la+—| =3thenthe value of a —-—+21s
a a
(a) 1
(b) 2
(c) 343

(d) 5
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1
4. 01f x + = =—-J/3 then x°" +x>° +x* +x?° +x**

X
12 6 -
+X° +X° +31s equal to

(a) V3

(b) O

(c) 2(2 ++/3)
(d) 2(2 -+/2)
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2
15 ¢ (XJFEJ =3 then the value of
X
X2 + x4+ x%° +x% +x* +x* +1will be
(a) 84
(b) 206
(c)O

(d) 1
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16. If (X +3)° +(y =5)* +(z+2)° =0. Find the
value of X +y +z.
(a) -1
(b) 2
(c) -2
(d) 0




Type-X
17. If a®* +b*+c* =2 (a—-2b-2c)-9. Find the
value of a® +b* —c*
(a) 3
(b) 0
(c) 13
(d) -13



Type-X

18. 1f x> +y?® + 12 + 12 = 4. Then x* +y*®is equal
Xy
to
(a) -1
(b) 1
(c) 2

(d) 4



Type-X
19. If a® +b? +c? —-4a-6b -8c +29 =0. The find
the value of a + b + cC.

(a) -9
(b) -3
()5

(d) 9



